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Distinguishing Attack
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distinguishing attack
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RC6

RC6-w/r/b

128 w=32
RC6-w/r 64
0 256
24 32 RC6
RC6-w/r/b
6 lg w

a+b 2w

a-b 2w

aoeb w

ax b 2w

a<<<p w a

a&>>h w a
RC6
RC6-w/r/b RC5-w/r/b

RC6-w/r/b
S[0,...,2r+3]
6
1 RC6
2r+4
L[O],...,L[c-1]
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w=16

DES

0 b 256

1

RC6
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L[0]



L[c1]

c=1
2r+4

=0

Ps>=B7E15163 (s2=9E3779B9 16

P32 e-2
[0)]

RC5

RC6 ABCD

(AB,CD)=(BCD,A)

RC6

1. RC6-w/r/b

L[0]=0

90....,2r+3]
L[0],...,L[¢-1]

RC5

RC6

RC6

RC6

RC6-w/r/b

fori=1t¢t
S(i) =

A=B=1

fors=1

{

v =3 x max{c, 2r + 4}

o 2r+3do
Sli— 1+ Qu

=j=0

to v do

A=5i|=(SE+A+B)x3
B=L{jl=(Lj|]+ A+ B)«<(A+ B)
i=(i+ 1)mod (2r + 4)
i=(F+1)modc
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2RC6-w/r/b

RC6-w/r/b
4 w AB, C D
r
w 90,...,2r+3]
AB,C,D
B = B + S[0|
D =D+ S[1]
fori=1tordo
{

t=(Bx 2B+ 1)) lgw
u=(Dx(2D+1))xlgw
A= (A1) & u)+ 524
C=((Cru)kl)+S2i+1]
(A,B,C,D)=(B,C,D, A)

A=A+ S2r+2
C=C+ 5[2r + 3]

RC6-w/r/b
4 w AB,C D
r
w
S00.... ,2r+3]
AB,CD

C=C-52r+3
A=A-S[2r+2
for i = r downto 1 do
{
(A,B,C,D)=(D,A,B,C)
u=(Dx 2D+ 1))k lgw
t=(Bx(2B+1))xlgw
C=(C-S2i+1])>»L)du
A=((A-S2))»>u)dt
}
D=D-S[1
B =B - 5[0]
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3 RC6-w/r/b

— — — — —_— —— — e— m—

f(x)=

X*(2x+l)

(24
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S[2i + 1]

—+| s




